|AE2

6 1t 14 9] FAFH|FE 42
Alo]| Zatsict.

ojn=Z 42

Qujet 5

110010 & AW O = Hetd 227

[HH4 2,

® 26 @ 51

@ 48 @50

’6‘]—’6]—]

® 52

1100100 =1 x 25 +1x 24 +1 x 2
=32+16+2 =50

S oA WE A 1 o] AAR YRy e Aut

91717

10001 ()

H4 2, S5

@ 8

®)16

10001w
Lo'g 2

L 1x22=16

T A4 21 x 2 9 15 x 2 O] FFFTH4 D wf 2 9]
Zhrol = 2= 9l 3k ztel o] A4 BT B sl
[

4
oA 2, s3]

® 374

2l xx=3xT7Txx,15xXxx=3%xdxXzx

5 4o HFHSE 3 X,

ok, & 3o °V‘7} 4 7K 1 =

gt axb (B a, bELF,a#b) B
a® &E°l]ofof 0”/}

wetA z 7t 2 5 Qg =2, 5, 7, 9 9 4 7j9]

o,




i#"lﬁ}.

A 5 7foltt,

@ 15 olste] A FoA 7 I HEa

d

14 2, s
>
’ =13
)
@
© 4 : 8 1 25 &= A 2AA G & tF &4:7} o}
Y.

© 12 BE T Aas Foppolrt.

6. 32 x5 x 7" 9] oFpo ATt 72 9 oFp0] A}
REE

e, A 2 o 27

sh4]

® 5

72 = 23 x 320|B& 72 9] &F4-0] Fj4:
(B34+1)x (2+1) =12 ()
32 x5 x 7% 9] oF59] Al
2+1)x (1+1)x (z+1)=12 (7h)

=1

Ads-0] Arjgotst 13, A4

__E'-'_
T 0] & Fopolet,

Foj57t 40 2 o,

(M3 3, 3]
» CF
520
= 4 4, B 9 HBoSE ¢, HaBsE L

olgtstH Ax B=L x G o|B&2
A x B =13 x 40 °]t}.

. Ax B=1520
S8 o0 F Ol AR FoE A9} HE
Vg 2e AA%E Fotolet o 3, sl
’ [l J
72

ot = 24 £ 36 9] HaFEjgo|BER 72 o]

}.

& Al 56 kel g FoHm?

22 x32x5, 22x3x7, 23x3?

[H1 3, S

® 470 @ 674 ® 871
@9 gl ® 107




11.

2) 12 20 6
2 6 10 3
3) 3 5 3

1 5 1

=

HA 9] ?F mAg]o] Zol=12,20, 6 9] &
Hil4= 2 x 2 x 3 x 5 = 60(cm) ©|t.

okl Ho

B ox

Hdizef7t 16 4 o,

[Hl4 3, S5t

B

5 & A B Y HAAFdrE G, HaTHisE L
ozt 5l'H Ax B=L x G |22

1920 = L x 16 ©]t}.

. L =120

12. g5 22 5 5 0,00°] 3t

@49 ©10101 )

0 - 09 s oY= A Uetd As Setet

[BHd 3, &5H
@ 10110 @ 10111y ® 11001
@11100(2) ® 11111

~&B

©:101019) =1x2*+1x22+1=16+4+121
. O-0=49-21=28
28=16+8+4=2'+224+22=1x2*+1x
2% +1 x 2% = 11100y,

13. Al 5 23x3x5, 24, 60 9 HdFeFret HATusE
3, &3}

77} 3)olat I 3, %5
> =

> =

12

120




15.

2'x 3 x5
24= 2% 3
60=2x3 x5
gk i 2'x3 =12
HATHjS :2'%3 x5 =120

1abl01(9) = 1x254ax2*+bx234+1 x 22+ 1 x 1
oot 82 Lhe Lol Al 5ol

FAROR VEhf S o) 5 A2 T4 RS
RO ey Ste] &47} BR gL of
oot 58 L Fol YAMO vehfolet,

A 4, 55

’ =1 3
> Ct
11

22

B

= 2 HsE ab(g) 2tal T, ab(g) = ba(5)
— 9% +b=5b+a

—2a=2>b

b= 1 Et u 5 By gong 9 27
2 WESh= 2 12(9), 249 Ol

o120y = 11, 24y = 22




